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Cy+ S = w + Ty

Co= (1 + r(1 –τ)) S + To

S = w + Ty – Cy (w + Ty +
To

1 + r (1 – τ)
, r (1 – τ))

Ty +
To

1 + n
= r τS

1 + n

S = (1 – a) (w + Ty) –
aTo

1 + r (1 – τ)

To = 0， Ty = rτS / (1 + n)

S =
(1 – a) w

1 – (1– a)rτ / (1 + n)
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Ty = 0， To = rτS

S =
(1 – a) w

1 +arτ / (1 +r (1 – τ))
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O

図1　課税に伴う危険資産保有割合の上昇 
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E d = W， B d = 0 :（ 1 - t b） rb < req
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図2　株式－債券の選択と税率の関係 
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E (W) = Wo – Σ
i

Σ
i

Si (1 – τint ) rf + Si (1 – τeq) ri

V (W) = Σ
i

Σ
j Si Sj (1 – τeq)2 σij

S*= δ Ω–1 (1 – τeq) r – (1 – τint ) rf 1

S1
*
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S2
* Sn

*

δ = uW / 2uσ2(1 –– τeq)2
(uW = ∂u / ∂W

uσ2 = ∂u / ∂σW
2 )

S1
* = δ (1 – τeq) r1 – (1 – τint ) rf / (1 – τeq)2σ2

1 ,

S2
* = δ (1 –

–

τeq) r2 – (1 – τint ) rf / (1 – τeq)2σ2
2 ,

(δ = uW / 2uσ2)

δ

(1 – τeq) r1 = (1 – τint ) rf + β1 ((1 – τeq) rM – (1 – τint ) rf ),

β1 =σ1M / σM
2 σM

2

S1
*

S1
* = δβ1 (1– τeq) rM – (1 – τint ) rf / (1 – τeq)2σ1

2

��������	
��
���������

���������	
���
�������

��������	
����
�������

��������	
��

��������	
��
���������

��������	
��
�����
���

��������	
���
��������

��������	
����
�������

��������	

��������	
��
������
��

��������	
��
���������

��������	
��
�����
���

��������	
���
����
���

��������	�
��
��������

��������	
��
���������

��������	
��
���������

���

��������	
���
���������

��������	

��
�������

��������	
��
��������


��������	
���
��������

���������	
��
��������

��������	
��
�����
���

��������	
��
���������

��������	�
��
���
����

��������	
����
�������

��������	
��
���������

��������	
��
���������

��������	
�	�
��������

��������	
��
���������

��������	
��

��������	
��
�������
�

��������	
��
��������

������



������������

��������	
��
���������

��������	
��
�������
�

��������	
��
����������

��������	
��
���������

��������	� �

����������������������

�����

���������	
��
�������

���������	
��
����������

����������	
��
�����������

��������	
��
����������

���������	

���������	
��
������������

���������	
���


��������	
���

�����������

��������	
��
���������

��

��������	
��
��

��
����
���������������	
���	��
	��	�

���������	
�
�����
��������������������������	�	
�	���

�����������������	
������	�
	�����������������

����

��������	��
���	�
�����������������������	�
���	



����������	�
��
���	
�����	
�������������	
������	�
	

���������������������

����������	�
�	������������������	�
���������
�������

����������������	
��

��������������������������	
�������
����������	�
�����
�

����������	

��������	
����������������	
�����
���
�
����
���	����

���������	��
�����
�
�����
�������������������	�

���������	
����	
����������	�
���
��������
����

����������	
��

�����������������	
��
���	
��	��	���
����
����������

���������	�
����
�������������
����������������������	

�������������������		


���������	
�����������������	
�������
�
�
��������

������

��������������������������������������������������
��������������������	�
����������	
�������������������������	
���

���������	�
��
���������������������� !"#$%&
'()*

��������	
��
�������������


